Question Answer Mark | AO Guidance
The actual number of extra pupils The existing numbers are already catered for
determines the number of places needed Increase in provision
14 | (a) (i) | Shows how many new students there willbe | Bl | 2.2b
Shows trend so LA can provide accordingly Not Need to know increase in proportion of pupils
Need to know expected number of pupils
[1]
14 | (a) (ii) Wigan B1 | 2.2b | Allow “Wigan and Bolton”
Increase in number is greatest there B1 | 2.2b | Ignore mention of % increase. Ignore extras.
[2]
E.g. all those in this category stay in the LA
Populations continue growing at same rate . .
Populations all growing at same rate No_decrease n population . i
- : Children born in that LA will go to school in that LA
The population increases consistently A t influx or outflow of children after 2011
14 | (a) (iii) | NOT Increase has been steady Bl | 2.2p | 2SSUME nogreatin '
The LAs are not currently understaffed
All LAs have the same teacher/pupil ratio " "
All LAs have same need for teaﬁhgrs in Ignore extra eg "between 2001 & 2011
2011
[1]
Manchester and Salford Bl Wigan and Bolton Bl
Highest % or absolute increase Bldep Highest numbers in 2011 except Manchester and Liverpool,
which are very large Bldep
14 | (b) Manchester and Liverpool Bl Bl | 22b
The two highest in 2011 Bldep | B1 | 2.4 | Salford and Trafford Bl
They have the largest absolute (or %) increase, but are small (or
SC Manchester (alone), Highest % or not huge like Manchester) Bldep
absolute increase: B1BO0
[2]




